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5. Determine the solution to each system of equations.

6x+2y=2 b [n.sx:uzsy—us

& s -4y =-13 0.2x + 0.75y = 66
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6. Brittany and Lynn each earn a base salary plus commission. Brittany earns $2000 plus 15% of her
sales each month. Lynn earns $2200 plus 10% of her sales each month. How much will Brittany and
Lynn need to sell in order to earn the same amount each month?
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1. Determine the solution to each system of equations.
ax-y=5 b, [2X=-10y-2
2x + 7y = —12 " |-x+8y=5
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2. Determine the number of solutions for each system of equations.

o [y=3x-28 b, [5= -5+ 10
" lay=3x+8 " ly+x=2
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3. The graph shows the average attendance for two schools. What does the solution x = 14 represent?
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4. Tell whether each system of equations would best be solved using the substitution method or the:
linear combinations method.

6c=a-2y y+x=—1 x—8y
ﬂ‘[w+31=16 b 5y —ax=7 S lax + ey
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